Listener Crossword Setters’ Dinner

York, 10™ March 2007

SOLUTION SHEET

— N 75}
| (| |m
— [a4 o v M T m O >
M| o %) [alydia (@] 1] (MO0 <
8| Olw m| O =ila O|0|0|x =|Z|O OV ITIA
Al D=l |g|Sml<|z|alo- 0l |nlnlxlZE mlop| v im
Qalz|alx (Mo <z Z|ox1Zalz<Snxmolm =z |mp|lu
—|mlalz|olo|Z|olxm~gm |z =B Sal=| 2 |o|o|a—
Z im0 m|= O Tm|al—~un=mlz kAl —|zZm
<
vll<mlo=|Rlwn|=z|Z|o| ¢lalo)=<|B|~<|nla|o| o]~
= )
<|O|Z|~|Z|m Z|0|<|O |~ OI0|Zzlsi<|A0|d|mH| I A
= (a7 (@)
T
wz|Ro|<|o| |~|?|o|« e m|<|alalz| |m|<
A (a7 < Ol=
Qlo| |=|=|B| |« |=|= 7 “m| Sl | %]
9 =
= A Tl | 23 <3
< 2| |€ o=




